You may pick your seat today,
but no back row!

8-1 Sequences

Objectives: | can write arithmetic and
geometric sequences using
explicit and recursive forms.

Write the next 3 terms for the following:
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1. Describe the pattern that you see in the sequence of
figures above.

Add m3 4 dots eVery PR

2. Assuming the sequence continues in the same way, how
many dots are there at 3 minutes? At 4 minutes?
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3. Make a table of values and graph
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Arithmetic Sequence

arithmetic - sequence with common differencebetween successive
terms (repeated addition)

explicit - each term is defined independently

f(n)=a+dn for n=20

recursive - use the previous term to define thefollowing terms

fQ)=a, fW)=f(n-1)+d n=21
=], L) = Fn-D)+Y
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d= common clerence (# added)
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Example 1 Use the given table to write an explicit and a recursive rule for
the sequence. -
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At four minutes
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1. Describe the pattern that you see in the sequence of figures

above.
Multiplying bfj R
2. Assuming the sequence continues in the same way, how many

dots are there at 5 minutes?
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3. Make a table of values and graph
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4. Write an equation to represent the pattern
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Geometric Sequence

geometric - sequence with a common factorbetween successive
terms (repeated multiplication)

explicit: f(n) — a(f)“

recursive: f(M=f(n-1%¢7p
o

a= Ot formn (inlhial valed)
r= common roio (kx mm\hplviﬁ

Write explicit and recursive rules to
represent the table
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Write explicit and recursive rules to
represent the table
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Your Turn
Write the explicit and recursive rules for a geometric sequence given a table of values.
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Example3 Write both an explicit and recursive rule for the geometric sequence that
models the situation. Use the sequence to answer the question asked about
the situation.

@ The Wimbledon Ladies’ Singles Championship begins with 128 players. Each match, two
players play and only one moves to the next round. The players compete until there is

one winner. How many rounds must the winner play?

Analyze Information

Identify the important information:
« The first round requires matches, soa =

» The next round requires half as many matches, so r =

roundS | B games
— _ D 12 € playys

I Y |
2 272 >¥7
- 32 | b




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

